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06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM
SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org

April 2022

13 April 2022

BANK ONLINE LIVE CLASS
SSC ONLINE LIVE CLASS

11:30 AM 10 01:30 PM

BANK ONLINE LIVE CLASS
(English & Bangall)

BANK ONLINE LIVE CLASS
(English & Odin)

BILINGUAL

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengall)

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

W\ 7052477777/7052577777

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
SSC ONLINE LIVE CLASS

BILINGUAL




SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM




SSC 2022-CGL*CHSL-CPO / I at 06:30 PM

Study the following table and answer the question . Number of students enrolled for
Vocational Courses (VC) in institutes A,B,C,D, E&F.
fruferfaa aifereT &1 sreay= &Y 3R Uy &1 3wR ¢ 1 IR T, o, Y, €1, 3 3
P H ATIATAS Uragshdl (dd1) & fe ardifed S &t el
Years 2017

Institutes




SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The difference between the average number of students enrolled for VC in institute F in 2015, 2017 and
2018 and the average number of students enrolled in all the six institutes in 2014, is

2015, 2017 30T 2018 § HITT F A 41N & 1€ THiTPd B BT SNTd T=AT 3R 2014 & Gt o8
SRIT | THiTPd B B Siad T b & 37 3ia) 2

(a)89 (b)ss—)-(c)ss (d)82

Years 2014 2015

Institutes

110 150
120 180

140 220
125 210
150 200
165 230




SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The total number of students enrolled for VC in institutes D and F in 2014 is what percent of the total
number of students enrolled in institutes A, B and C in 2018? (correct to one decimal point)

2014 T HRITH D 3R F A At & T ATHITPd BT &t @ J=AT 2018 H AT A, B R CH
AHifPd Bl B A =T BT fod=T Ufa=rd 82 (Th SWad fag d@ dg))

(a)a3.2 »»(b)44.6 (JLER:] (d)42.8

Years 2014 2015

Institutes

110 150
120 180

140 220
125 210
150 200
165 230




If £ + % = 2\/5, then what is the value of (”ﬂL)

e |

?




The value of

423+[270—:—% ><35+(17—:——%- —

(a)41/2455

mm (b)43/2455

) (c)47/2455
 (d) 51/2455



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

Radha bought a fridge and a washing machine together for Rs. 57300. She sold the
fridge at a profit of 15% and washing machine at a loss of 24% and both are sold at the

same price. The cost price of washing machine (in Rs.) is:
f_gﬁr G|

1T 1 TP TP 3R Tp QTR H=H U A1y 57300 9 § W 394
15% b ATH TR 3R AIRAT 7209 B 24% P 1 TR 947 3R 391 B Uh
DI U= ST 7T | TR A=A &1 %9 4 (3. H) &

(a)22800
m = (b)34500
(c)28650
(d)24500



SSC 2022+CGL+CHSL*CPO / EM at 06:30 PM

sin® @ s 24 sin® &—15sec® 8
= 5,0 is an acute angle, then the value of ———————
6 cosec<8—-7cot<@

_—
tan< @ —sin< @6

01:00 "
(b)- 2
=) (c)-14

(d)14



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

If X+ X2yZ2 +y34 =21 and x2 + xy + y2 = 3, then

what is the value of (-xy)?

01:00 o
(b) -1
=) (c)2

(d)1



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

In AABC, D is a pointon BC such that —mBAD =

— ADC and —-BAC = /77" and —C = 45°. What is
the measure of — ADB 2

AABC #H, D, BCuxWesh QGarTfaige s =BAD = %

ZAKDCG-38IET . Z2BAC =Z7Z7°3NTC = 45° %I ar —~— ADB
<hT AT =71 87

01:00 ol
(b)45°

(c)77°




SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

if X is subtracted from each of 24, 40, 33 and 57,
the numbers, so obtained are in proportion. The
ratio of (5x + 12) to (4x + 15) is:

gfe 24, 40, 33 IR 57 A O udah 9 X 92T SI1Q, dt
UTtd S8 9agarad A sicai sl af (5x + 12) ¥ (4x +
15) T IJGUTT B:

mm (a)7:4

(b)7:5

—) (c) 14:13

(d)4:3



In triangle ABC, D and E are the mid points of AB
and BC respectively. If area(ACED) = 8 cm?, then
what is the area(ADEC) in cm?2 ?

=St ABC #H, D 311X E shHRT: AB 3R BC os # fag

& af ei=saT (ACED) = 8 912 g, ar &% (ADEC)

a2 A7 fpaar &2




The cost price of an article is Rs. 250. A
shopkeeper gains 20% by selling it at a discount

of 36% on its marked price. What is the marked
price (in Rs.) of the article?

Qch d&] ohl shd Hod 250 39 81 Uch gohlHaR bl S9

3T%ﬂ§31@36%ﬁ@ﬂ&ﬂﬁﬂ20%3ﬂﬁﬂ
BidTl 81 dl g% ohT 3ifchd =7 (Faa H) a1 872

mm (a)450

(b)380.50
(c)a75
m (d)468.75



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

If the six-digit number 5z3x4y is divisible by 7,
11 and 13, then what is the value of (x +y-2z) ?

g ©: 3ich! ehl T3=T 523%x4y 7, 11 3R 13 & fayrsa
e, dl (X +y - Z) ohT HTH T BIFIT?

01:00 g
(b)5

(c)6
(d)3



SSC 2022+ CGL+CHSL-CPO / M at 06:30 PM

Pie Chart shows the degree wise breakup of expenditure of a family in a month. Total
income of the family is 144000.
uﬁaﬁwn‘eﬂﬁﬁwwéﬁaﬁwmﬁwﬁ@rﬁ%l ORaR &1 od 3T
144000

What is the expenditure (in) on education?
Rrem wR oy (H) T 872 Rent
M Educatio
" (a)36000
M Saving
(b)20000
==:) 24000

(d)12000



If (x+6)3+(2x+3)3+ (Bx+5)3 =(3x+ 18)(2x +

3)(3x + 5), then what is the value of x ?

g (x+6)3 + (2x + 3)3 + (Bx + 5)3 = (3x + 18)(2x
+ 3)(3x + 5), dI X ohT AT ITd <hifSiT?




A square has the perimeter equal to the
circumference of a circle having radius 7 cm.
VWwWhat is the ratio of the area of the circle to area

of the square? (Use 1t = 22/7)

Qch 9 oh! URHATT 7 HHT =F<Ar1 arat g« <hl aikRfd <h
SRTER g1 df g ©h &3AWhd ohl a9 o &9thal 9 IIUrd
FTe? (T A= = 22/7)

(a)7:11

(b)121:44



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

A car can cover a distance of 144 km in 1.8
hours. In what time (in hours) will it cover double

tThe distance when its speed is increased by
20%67?

Qoh ohiIX 1.8 €92 A 144 Sh &b <32 a9 b Gohdl o
ST s9h! T H 20% <hl gl <h! SIrdT 8, ar ag ShaA
g H (daf H) T 2 a9 hA?

(b)2
(c) 3.2
(d)2.5



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The area of a circular path enclosed by two
concentric circles is 3080 M?Z2. If the difference
between the radius of the outer edge and that of
inner edge of the circular path is TO m, what is
the sum (in m) of the two radii? (take 7t = 22/7)

=T Sohiaca gdl 3 M2 gos garssiT 921 ohT Si3%a 3080

He=z= 81 afx garasT1< 921 o Iars<l Al sk 33t s
STIa3T TS0 b I=3s=3ar <6 =sit= =671 333X 10 Hiex 8, at

=19 FEsarsaatsraET (FHics A) s=arae? (s gar—a9 =
22/ 7))

—’).(a)98

(b)70
(c)84

(d)112



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM (1))

A tangent is drawn from a point P to a circle,
which meets the circle at T such that PT = 8 cm.
A secant PAB intersects the circle in points A
and B. If PA =5 cm, what is the length (in cm) of
the chord AB~?

ReP3Ogauor g IGrE= srar e, sitgaaht T
g s Uk faadra S5 PT = 8 4, uah &= PAB
<1 bl foig A 3Tl B X shiedar &1 Ifx PA = 53+ §, a1
ST AB bl drs (35T H) sa1 872

—}-(a)7.8

(b)6.4
(c)8.4
(d)8.0




SSC 2022+CGL+CHSL+CPO / Ei at 06:30 PM

T hree persons A, B and C donate 10°%s, 7 and
O respectively of thheir monthly salaries to a
charitable trust. Monthly salaries of A anmnd B are
eqgqual and thhe difference betvween the domnations
of A anmnd B is Rs. 900. If thhe total domnatiomn by A
and B is Rs. 600 more thanmn that of C, then what
is the monthly salary (in Rs.) of C—~

?ﬂ:raq%A B 31T C 319+ AT dda @bl shHAA: 10
% X 9% Woh eI s ahli g ahid a8l A 3T B b
W@Eﬁaﬂ:rwéaﬁzAaﬁ?B%ﬁmasaﬂ?aﬂw

900 TUud 2l gOfax A 3T B SIRT oA &1 C ¥ 600 39
IS 8, af C oh1 AT aase da+ (a3 HA) Shaar a2

’

(a)45000

(b)55000

== ()50000
(d)60000



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

To do a certain work, efficiencies of A and B are
in the ratio 7 : 5. Working together, they can

complete the work in 17 % days. In how many

days, will B alone complete 50% of the same
work™?

Tah AT o1 o a3 o6 g, A 3112 B il =&1daT1 b1
U 7 : S8 IGh AT hA had 8, T 17 % e =
hTH hi UXT oh ohd ol B 3Tdhd I o1 bl 50%
Tpa= AT 3 gz H7n?

(a)42
(b)30
(c)15




SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The average weight of students of section A and B having 40 students each is 45.5 kg
and 44.2 kg respectively. Two students of section A having average weight 48.75 kg
were shifted to section B and 2 students of section B were shifted to section A, making
the average weight of both the sections equal. What is the average weight (in kg) of the
students who were shifted from section B to section A?

E-S'Aaﬁw%ma’rmaﬁwam 8 U § 40 BT 8, SHHTT: 45.5 fHUT 3R 44.2 fHur 21
A9 T S ol BTE] BT SGd G 48.75 FPETUTH AT, I Vau §1 & QFGRT B fear
aﬁ'\'é’r%zfﬂa’rﬁ%ﬁwﬁmw R AT o= T 3Nd 9o

RIS B TAT1 IR B F G A mmwwmaﬁﬂam(ﬁwﬁmﬁ)m%o

m : (b)34:5

(c)35
(d) 34.25




SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

2 . 2
If 0° < ©<90°, , / S8 btcosec’d ;o aqyal to:

tan? #—sin” 0

(a)sechd

mm (b) sec’p
—}‘(c) Cosec’y

(d) sin?8



AT what rate percent per annum will Rs. 7200
amount to Rs. 7938 in one year, if interest is

compounded half yearly??

Ofe =1t Irefarftes =g O Iaiftsa fSearsar g, ar
P = gr gfa gy 7200 39 <kl T/ Weh g H 7938

SO g SATEI?




SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

(cosec A-cotA) (1 +cosA)=7?

mm (a)Cosec A
(b) cosA
(c)Cot A

—)'(d)Sin A






